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With CuKa contamination fitting

to reduce the K shift (especially on Ni)
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KB sigma is free to separate
off the ambiguity in Kf3
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Summary

e Cu contamination reduced the Kf3 shift
and it looks reasonable within statistical error

® The CuKa line didn’t influence the other parameters
for energy calibration

® The Cu contamination is about 4% of Ni/Ti peaks
(phenomenologically)



With CuKa contamination

e FADC pre pedestal cut <= mean+2.5%sigma
(sigma is the standard deviation of the pedestal: SDD dependence)
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Without CuKa contamination

e FADC pre pedestal cut <= mean+2.5%sigma
(sigma is the standard deviation of the pedestal: SDD dependence)
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